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NOTE

(1)

FA1 A= R A Tp 39 TA-9F H glea
519 2 |

Please check that this question paper
contains 19 printed pages.

(Ir)

FHT A W A Fh 3@ THA-IF H
18 ¥ 3 |

(I

Please check that this question paper
contains 18 questions.

()

Y- § gfgd 719 i IR fow M
JeH-9 I hl Femeff IT-gfedeht &
q@-78 W o |

(Ilh)

Q.P. Code given on the right hand side of
the question paper should be written on
the title page of the answer-book by the
candidate.

(V)
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srava ford |

(V)

Please write down the serial number of
the question in the answer-book before
attempting it.

(V)

22/S

T TE-9A I UG W [ 15 e
H I feam W ORI TH- R
foaor qaig @ 10.15 s fR e |
10.15 &< ¥ 10.30 &<l A D had
Y39 il Tell 3T 30 &Y & e

I I-YfEdehT W HIg IR & forEw |

15 minute time has been allotted to read
this question paper. The question paper
will be distributed at 10.15 a.m. From
10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not
write any answer on the answer-book
during this period.
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General Instructions :

Question paper is divided into 4 sections.

It has total 18 questions.
Section A - 1 Question no. 1to 1
Section B — 3 Questions no. 2 to 4
Section C - 4 Questions no. 5 to 8
Section D - 10 Questions no. 9 to 18

Attempt questions as per specific instructions.

Write question no. in answer book before attempting it.

"= A391T:

ST J9797 AR GUST: Gi<T |
S o777 37T (18) F¥T: it |
Tug: ‘F’ - 1- FIIEE 1
TUE: ‘@’ -3 - JITIEIT 2 — 4
@Ug: “7’- 4 - FITaEIT5 - 8

@ue: ‘g’- 10 - FTEEIT 9 - 18
faRre- 435I ar. Fo4T: Garen: |

IRYRAHIT GG Y TaTIT JoAGCT ARG |

22/S 2



22/S

«us: ‘h’
UTSA-TTTETT
HAUfSd e

Unseen Reading Comprehension

FTLNTARE TRl JiSeaT s ST Heahd fored |
FrfTRad Terter ot TRt fd¥ TTT Wt o IR €&hd | faifaT |

Read the following passage and answer the given questions in Sanskrit.

10 3IgT:

e WY | Qe TIHT AN Aq A GRIh WE |8 $41d | E@ai B
fafaeeue gam: | @A WO GearmeH & Sfeer ardey e wafd | dan
feferem wafe — aronfefeht wifereht =1 | areTfefertaran weTerH: S I I=sfa | T
AT e TRE ek S = gliehd SRIaed | SieTish-HEeeey HHEdrT: WIeHET:
forerrama Siifershdam 1Y HewH, add | FEg STEEREE Hal Slfehehl-dar Hafd |
FTTIT GUTST AT TR SR | ST TR h-SHEH T SR EY Fafd | S

Had Uded forad=g Ig ATag o’ TIEAT: WEHT: qeg TR Wi FoforT fedfemama

HATEHT WA | e W] GRa:” e |1 93 Ed STIT&ehT: o |
At

()

(310

THUSH I : (hadl TH5IH)
Teh 3768 § ST SINIT : (Shaed &1 9)

Answer in one word : (Only two questions)
()  TETe WHYH: & 2

(i) HRTeAM: ST foh T=afea 2

(iii)  FET T Afehehl-HaT qafd 2
qgfaméﬂrgara NCENBEERL)

Ut e | I I ; (ke & )

Answer in a complete sentence : (Only two questions)
(i) Shee ardeay v foh waf 2

(i) O A &: ?

(iii) =% Had FH STHEHRT: 9ol 2

3

2x1=2

2x2=4

P.T.O.



22/S

®

®)

3T TerRe 3fd wiieeh Heehd forad |
T TS T 3ferq wfies Teekd W foflag |

Write a suitable title for this passage in Sanskrit.

TG I : (haet TT9H)
fAdeTaR ST o : (et ot W)

Answer as directed : (Only three questions)

(1)

(i)

(iii)

(iv)

‘am:’gﬁrqawﬁﬁwa‘%gﬁ:

(A) GgH:

(B) iy

(C) dHHg:

(D)  IMA:
‘wﬁ%{’gﬁrﬁﬁwﬁﬁwﬁgﬁ
(A) T,
(B) ST
(€) I

~

(D) HHIEH

~

“Faraa=q 3f fshamresa sque fod
(A) T

(B) HH4:

(C) S

(D) wG&HT:

HTEHTT:” i Teey qTTeRTE ford
(A) Tl

(B) |ddHq
(C) @
(D) SIFTEehT:

IxI=1

3xI=3



us: ‘@’
TATCHR -SRI 15 JST:
TOATCHE BT
Writing Skills

2. IMTTE: | adt ORI STRISIH JTfiehicad Geha-Tesntd Hoa- Hiasfd |
HAREere S Ui fw=rors Hesqord: gart ferear et qeaq |
31T 7T & | 319k foreTerd | ST foRT ST Aot TfNehicad H H&ehd A1ea &l
ToTd BT & | §9 ST R 14931 b foTd T Farestor-ot sy o fow 1 wreei & ik
oI o 9fd o o e |
You are Gopal. On the annual day of your school a performance of a Sanskrit
Drama is to take place. In an invitation letter written to your friend fill in the

blanks with words given in the box and rewrite the same. 1 OXE =5
LEL
Tafqedid:
forar fier wreier | ferg _
I (i)

I FRA T | A (i) SA((Sepicqd: “q@=q-goaH
gfa udr: Wmmlmmm(m)
HANTHIGATE  IqASHE (i) T TEEd |
v aﬁmldauohrdm-ﬂdchw TAYd: A& | el -
~vi)  Tederfr sreir. SR Treser (vi) forad |
Tdq EAT o ITH_ (viii) ___aguﬁrwﬁ'rl aqﬁn'{ﬁ%—om CCRDLC]
3 (ix) | IFER T T (x) e |
T AR
YT

HHT

HGH, FHIH:, foranerare, sTnT-ead, qatve:, foxfuder, yomese:,
oI, g, fHerT |

22/S 5 P.T.O.



o o

300 () HeSITI-YETRISAHI HEEddl HfARGdrt erEshem freherr qwRrea e

[N

: forrd |
HoS[NT | T 7T S1s<T shl HETHdT & A foTell ek # fich T STt el i
g fetflea |
Complete the blanks of the following short story, with the help of the
words given in the box below and rewrite the same. 1 OXE =5
AT TR TR giorema: (i) _ SEIq | qRifaeRy
T (ii) AT | Uk 9 THO R (i)
AT | Y T HETHeh! WiaqH $50d: T | ATTSH: ST 31U THH Teh
] (iv) IHATH — 79 3T W 1T (v) | de
T qEETT Wirsa e, Tehed TIaa Ty (vi) | TARAA foo weh: T
(vii) STHaaT | fgeftr: Taaq — o awIany | 51 5 Uh: I
Wi (viii) | & fafhcarer fieam @& Faae | 4
(ix) I T Ao | | FOT: AN T A (%)
T ST, 3 fedr: uar Yarh: Tdiemai gwe: S |
HesTHT
e, S, ErElEone, sTHde, g, Sifd:, SR, g, Jee,
T |
14T (OR)
@)  IFeifiad-sare e g -
et dare o fh o it -
Fill in the blanks in the following conversation : SxI=5
fasE: — o1 o[ | fh @ SEIY 9q MHWEeIs SiHiad: hal

wafd 2
s — TSR () |
s — sEzewies il fiaw § smmeeaanty st wafd | fh
ST & AT 2
e — T (i)

22/S 6



fasE:  — TV | U ST qEEA SieTereergt: e At
e WWW|%MWWW?

3org: — (i) |

o — UoAThd, | 3T JEuHHS o HeAfSR St uew
HWMY IENY FAdH — S ST, S Tohe™, 51 o 3fer |
AR o g ST et 2 T 2

I — (iv) |

fasr:  — | SRqa: @RY q e HER-SENT add | ETeEen
frwTor s foh wmemm STt 2

T — (V) |

oo — HAHH | TdeaR I TETa e 3oy SRGHTHI | 37

YT WIS JAT: STavIHT Hi: |

4. FAIRITATRIY FAoT TSR] o ST Fod |
Trfcifiad sl # @ fopeel uter aerl o1 E¥ahd | STATE IS |

Translate any five sentences in Sanskrit from the following sentences. SXI=5

(i)  HENIRA 9¢ = il AT R |
Mahabharat is the creation of Ved Vyas.

(i) G HEepa-Hery forardt 2 |
Sujata writes Sanskrit essay.
(iii)  SITORIT O €T T |
Have pity on the animals.

(iv) B o FfSImErR ST |

The students will go to zoo tomorrow.

(v)  HITeRT T8 i YOI el € |

Monika bows down to the teacher.

(vi) o=di | I HT A |

Don’t make noise, kids.
(vii)y TiTH AR @A
Farmers live in the village.

22/S 7 P.T.O.



“us: W
ATTIH-ATHIUTH 20 IgT:
ST
Applied Grammar

5. SUfREdearRy W@ RhduemT di-a=es af-d a1 & | (T hae)
Frefaftaa aret & w@iferd ual w1 af-y-faese stuat afcy il | (Faa B 79)
Disjoin or join sandhis in the underlined words of the following sentences.

(Only six questions) : 6x1=6

(i)  gwiq -+ yafdaes |

(i) o & SaohoT O wifereree |

(iii) aa:@gufﬁﬁw: |

(iv) TRt fe A + e |

(v) WA | S g SeRrewr e |
(vi) O S ST ! e |

(vii) ~TEHIE] o S AT o + T | |

6.  FUfRgdarRy Ergfhdueqm 3fd wweud foug ol o1 yedlosheua:
forget | (et )
et e o w@ifera ual o Sfa Tweaue a1 3 faure are =t gex fashedt &
EEMICESRIERE)

Select the appropriate expound from the given choices for the

underlined words “THEUE’ or ‘fomEAE’ of the following sentences.

(Only five questions) SxI=5

22/S 8



22/S

(1)

(i)

(iii)

(iv)

IR YT ST dTfT et |

(A)
(B)
©
(D)

IR ESIEGIIES

HEIST: 3f 3173 7 ohodd |

(A)
(B)
©
(D)

T T 3f
LIRS
R ST

HET ST

ST e qrelTH 39 |: F=arell g8 |

(A)
(B)
©
(D)

PRLL=IRIER

c N

PRLLEIRIELN

D ~

HAFSITATIOT

T FAFerd SRS |

(A)
(B)
©
(D)

o 3ferayq

-~

ElEGEECEIRER=]

3ferd Tem
AT IHTIHFT

P.T.O.



22/S

(v) R St i ge=it Bt aree: |
(A) Ufd: T 9t =
(B) U T ue=n =
(C) udl=F et =

(D) ufd: I 9= 9

(vi) Afe TrsTere: SISIpAT Tirsafd |

(A) TS A&HT:

(B) TSI I&AT:
(C) UY: w&HT:

(D) USTET @&

Se-forhe s Tord | (haet TweehH)

Frmrferfee ot 2 el a3 S T ST e e e A g T
faercai 9 MY | (e B: 99)

From the given choices, choose the correct combination of joint or disjoint set of

suffix for the underlined words in the following sentences. (Only six questions) 6x/=6

(i) ewi= smfeaey |

(A) ¥+ HG+add]

(B) 9 +HG+dAq
(©) "+HI+wd

(D) ¥+ Hg + I

10



22/S

(i)

(i)  TTECATANTIIETT T ST e |

(iv)

(v)

(vi)

T AT & + o T |

(A)
(B)
©
(D)

(A)
(B)
©
(D)

~

ad:

A + e
TIqA + o
TG + FIAG

T + 2

isTe=y for IeiT: rforda |

(A)
(B)
©
(D)

SAUETT ®qadi g o |

(A)
(B)
©
(D)

ST AT T3 T Sreffera: |

(A)
(B)
©
(D)

T, +
T+ TR
T + 7
e+ Y

&Y + AqY
®Y + FIAG
&9 + F
w9 + 319

Hr+ e
HF + 3
F + 3
1 +od

11

P.T.O.



22/S

(vii) AT TS JHT
(A) AT
(B) EM:
(C) IEREH

-~

(D)  STrEROMET

TR + 219 |

gy uve-forv e fogd | (haret wesrm)
39YH TS forwifeh o &9 1 IHT | (Fae a1 T39)

Choose the appropriate subordinate clause form. (Only three questions)

TGIT: |

(1)

(A) o
(B) W
(C) w9

~

(D) 93T
Gi) e

(A) Hfetaq

(B) hfota e
(C) hfetaq

~

(D) hieteHTd

(iii) TS HIUTCA:
(A) a9
(B) w¥E™
(C) @wa
(D) @

(iv) TRl

(A) 3TeHq
(B) HaT

(© ¥H
(D) HeH

FIEFCER e

HHTTA: |

12

3xI1=3



22/S

Qus: ‘g’
(i) UfaTaaTeq g 25 HZT:
ufea-eraared
Reading Comprehension

FTNfTRad TR IfSeaT AaTeTRaT S HEehd- 3 |
ﬁmﬁf&awﬁwwmmﬁwqpﬁ%wwﬁaﬁm

Read the following prose passage and answer the questions based on them in
Sanskrit. 5

SR 38 JEHIHRTY iUl ST T — oo 77 HIehISHH, W1 Ichedd el g
forerm | g SeaT: WW@%WMW|WW
W&ﬁﬁ@ﬁéﬂﬁﬂﬁﬁﬁmaﬁmmwm fepufty srearSt
AT | TG AT TeHTST: 7 e, UG TEHRT ISt TEra=l it
ffeer war | WWWWWWWW
IE — mmwﬁﬂnﬁrlﬁwﬁwwawwv
GETIEHEHY o fohehH ?

TAT:

(37)  ThYed 3T : (halel TH5TH)
e I1e¢ | I SN ; (Faed a1 9)

Answer in one word : (Only two questions) 2><§ =]
() T FATHTRTY HIUdT TSI T8 2

(i) Wt T T e o 54 fiqar 2

(i) T HHHEIOT TEdeh HRRIET FeersT: TSvaH Td: 2

(3)  YolaTeRIT I : (et THEIH)
qUT STeR] H IR SIS : (heret &1 93)
Answer in a complete sentence : (Only two questions) 2x1=2
() T TSI At o TTE 2
(i) T T FEIHIT Fears: Toh FHaar 2
(iii) TS ISEe JreaT Jeatrst foh qua 2
(3  IATHGIH 3TA : (hael THEIH)
fAeTaR S SIS : (et 3 ws)
Answer as directed : (Only two questions) 2x1=2
(i) P i e fasreg oy 2
(i)  wE=T 3f vee faetmad foh R 2

(i) T 31T SRqueE Tohamag form 2

13 P.T.O.
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22/S

JTefeTRad Tef afeean qaremiaT T2 @8R 3aid |

FrfcTRed Ter oht dgaRt 3 TR SATETG YT o I HEehd H ST |

Read the following poetry and answer the questions based on them in Sanskrit.

AT

()

(310

®

I T J&Y: TAICASTE,
OSSP aHIcRe FrasrTe |
REGREEMIEREE U]

THTSH I : (hael TH5IH)
T 316 U 3T ST ; (ShaleT &1 9)

Answer in one word : (Only two questions)
(i)  hIGET: U IRY: FSTE YeAdfd ?

(i)  Afcraxt fE for e 2

(iii) Tt &: wafa 2

QUISTERIA 3L : (haTed TH5TH)

qUF ST | I ST : (oheret &1 94)

Answer in a complete sentence : (Only two questions)
(1) Eﬁ'g’%“f: ARK ford g 2

(i) gl foh T Rfer 2

(iti) i foh Fpwd 2

TG I : (hact TeGIH)
[EERIGCRES I SN CE N RE))

Answer as directed : (Only two questions)

()  oguTl 3fr vawr foeierd foda |

(i) & 3fd vee fomivome fermfiq 2

(iti) gauA 3fa Fquee framde for 2
14

5

IX—=

2x1=2

2x1=2



11.

22/S

STfIRad Teaiet qfScar TaTETar FH Thd- 3T |

FTCTRET AT hi TGaRt 36 IX ST 4T o 3T €&ahd H aITeIT |

Read the following part of a drama and answer the questions based on it in
Sanskrit. 5

et —  aq foh ista 7 wiemfa wit 2
IR — (WaSH) IS el T WorwTfa 2 aitferdr o, STeaR=rRes o, S o

Sferrf=a, 7 q & shsfo EHTTAT HaTgR: |
—  QaTies | 3q tmRte foRaty et smu Rt |

gl —  (qUT Fedl) LA |

— e o Tl gl T Tfoee: deYe qiehd-qre e v gum I o
TSSITHATATTY T FoeTTd-E@Teh- AT Hd o Gerof forermd Srerar: |

GlaTieh: — TR, hueH-aTe | el faameEmd w@ieses o Rreatd 2 @ we

AT

()

(%)

at-d =T ¥ Sehiaas ST Jed i ST F-Haaty qraat-d,
A Rl RTETUIEdTgRIT: | (S-ITTET 86 gea) 3a%] 9 U FEaH ?
F AR 2 1 a1 Afa: 2 31 T @ FHEAMY IER e 7 |
(EHHTES) TS aﬂﬁwawnﬁ g TENEE dr geitad
I |

TS I : (hact TH5IH)

Teh 3T5¢ | I SAST ; (Shaled &1 )

Answer in one word : (Only two questions) 2x—=]

(i) IS aar = gfemra 2

(ii) = ST SehiarcIi T S el ST T areaf= 2

(iti) oo AT foh fererrq wrerpaT: 2

QUi 3T : (et T5aH)

EUEICERSEE N CE K BE))

Answer in a complete sentence : (Only two questions) 2x1=2

(i)  THET HIgE: AT gl 2

(i) A & Af glomrd 9 wfeed: qa1 d=rel a6l (@) 6 e
HAANT 2

(i) TEAHTHS SIATIh: TR foh sherfar 2

15 P.T.O.



(3  FATHE ITA : (et TeHgIH)
fAeTaR S S : (ke 3 we)
Answer as directed : (Only two questions) 2x1=2
()  “FAFN 3 IeE waaE foh S 2
(i) w3 foramaeea shqud foh ey 2
(iti) <A e A gforRr=d 7 Afcewel:” 37 “caw? 3f Helammod el Tgehe 2

12. &) FefcRgae were S Hesed-vres: R 41 fored |

frefcifiad e s wirael HesTwn # fow 7T wreat & v O: fifa |

Rewrite the gist of the following verse by filling it with the help of the

words given in the box. 3xI=3

TRT UTSTAMY, ShiET: Ty e 7 |
A =TI, uTef HoeHTE ||

wrarer:
e S wii Sufewid aq ? () _Emn, TE,
(ii) ShIET:, aaeeTdT = 39 (iii) DEIIR R CIE
o AR TSTE-ATHE TSR IehT: ST EsITaT: ST Haifed |

TSTHT

(=N

TG, U, T |

HUET (OR)

@)  EawTETeETd 38 v foer foed |
foq Tu ot sraet # | g1 e e e |
Write the correct essence from three essences of the following each part.
() ¥ foar frareamet shaet SaRdd: |
() T fochuer Us3 ST wEald et o |
(i) T fochoe TS foaT; SHfr o A9 3T |
(i) ST RIEATHEE, W&, w9 = s foefia: @ o,
ST e q eheret STHead: T |
22/S 16



(3AT) T TSI HSSHarRIIT |
(i) BN SH: A HHOT Ho: A |
(i)  goM: TATHICERNT FaTT TSR T el |
(i) GSIT: TSI 8 el Hsff 7 e |

(3) g oW e fea
(i)  SABUUGTE ThIeTa Sl U forsmeermar el 3 Aot arfeer |
(i) & <quft e e |
(ifi)  FFITETET ForaTrT S A |

13, AAREd-Ielre Tad 3Rl Feheer =TT Hos[NTIe - TeaT He e o |
frfaiaa veites & foo gu stvae o ek T o1 qfd Aesqon o fou 71 wreei ot werrar
BEASY

The prose-order rendering of the following verse is given. Fill in the blanks with

the help of words given in the box. 3xI1=3

EERIEFCRRIRIREE T unEE

HAATAATET STRMTheh g THeT ||
T
= (i) TR FTEIR (i) S, TR 5
Gi)
AT
STAIRITEATY, IR, JerTavaerd |

22/S 17 P.T.O.



14.

15.

16.

22/S

o ST AT W TS SUgThaT: HE Wl 3 |
o’ TP o FTRIT BT T TP o ST TR oh T et shifefg |

Match the sentences of column “eh’ with suitable sentences of column ‘@’. 4><é =2
o’ EAFY: G ETFY:

i. EESEECIEICE (&) T EEfeEmT: |

T (G R CERE ] (@)  SATETHRI |

iii. AT ST EERKIESKELY

iv. A A Hahs: () T T |

HARGTTRIY TS hd-TaMT THSTHAR [EH e HosuTa: forear fored |
frrfcrfiaa st o Taiferd 2Teat T TETTHR [ 379 Ao § e ffiaw |
Choose and write the appropriate meanings of the underlined words in the

following sentences with the help of the words given in the box. 4><é =2

() AL AT BT S S |
(i) WW%WI
(iii)  SCETIST: TSI AT el el Hedl qouff a1 |
(iv) WIS =T |
ST

(=N

e, @, SRS, S |

(i) HERAHTaE ATHIAREA: 10 HZT:
TERA TEed T ATHT TR

General Introduction to Sanskrit Literature

FTNTARITTTHTAT IAUTV ToFEd | (halet T5R—H)

frefaiaa gt o s fafay | (et it a)

Answer the following questions. (Only three questions) 3x1=3
()  HIGURT TIEE ST U13: FHEHT ATEehId Eeid: ?

18



17.

18.

22/S

()  ONIERY: T FHd: T 2

(iti) ~ TAI-HETHTS & ol TaAT AR 2

(iv) Rl $i I18: FEHE =T € ?

TSN YETTSET TTeTA ket quferest fored | (et Trm)

WS H T3 7T 31t sht Wt | ek €11 sht i shteh [ARa | (sharet i 7)

Fill in the blanks with the help of the words given in the box.

(Only three questions)
() IUVERE YT AR
(i) TEERH-ATE fRfaaq AemRey, SR |
(iii) TR e afd |
(iv) TFREIH Wl |
HeSTHT
Y, TEUEHIH, T, R |
BLIECRSRRE
T fireT hifsry :
Match properly :
g &’ 9T g’
i. A (h) FAEATHIGTH
i, TR THEdEH (@) HIfAem:
fi. W (M)
iv.  foshATERie () AN
19

3IxI1=3

Ix1=4



